1. Scott Equipment Organization
Based on the following scenario, complete the calculations below:

Scott Equipment Organization is investigating the use of various combinations of short-term and long-term debt in financing its assets. Assume that the organization has decided to employ $30 million in current assets, along with $35 million in fixed assets, in its operations next year. Given the level of current assets, anticipated sales and Earnings Before Interest and Taxes (EBIT) for next year are $60 million and $6 million, respectively. The organization’s income tax rate is 40%; Stockholders’ equity will be used to finance $40 million of its assets, with the remainder being financed by short-term and long-term debt. Scott’s is considering implementing one of the following financing policies: 

Amount of Short-Term Debt 

	Financial Policy 
	In mil.
	LTD (Interest %)
	STD 
(Interest %)

	Aggressive 
(large amount of short-term debt) 
	$24
	8.5
	5.5

	Moderate 
(moderate amount of short-term debt) 
	$18
	8.0
	5.0

	Conservative
(small amount of short-term debt) 
	$12
	7.5
	4.5


a. Determine the following for each of the financing policies:

1) Expected rate of return on stockholders’ equity

2) Net working capital position

3) Current ratio

b. Evaluate the profitability versus risk trade-offs of these three policies. Would you rate each one “low”, “medium”, or “high” with respect to profitability? Would you rate each one “low”, “medium”, or “high” with respect to risk?
NEED TO DO A SCENARIO REVIEW, BALANCE SHEET AND INCOME STATEMENT TO HELP GUIDE ME THROUGH THE PROBLEM

ANSWERS BELOW:     

	We are given
	$ million
	
	

	Current Assets
	30
	
	

	Fixed Assets
	                 35 
	
	

	Total Assets
	65
	
	

	Equity Financing
	40
	
	

	Debt Financing
	25
	
	

	
	Aggressive
	Moderate
	Conservative

	Short term Debt
	24
	                18 
	12

	Long term Debt (Total debt $25 – short term debt)
	1
	                  7 
	13

	Interest Rate Short term
	5.5%
	5.0%
	4.50%

	Interest Rate Long term
	8.5%
	8.0%
	7.50%

	Sales
	60
	                60 
	60

	EBIT (Given)
	6
	                  6 
	6

	Interest (ST debt X ST rate + LT debt X LT rate)
	1.41
	1.46
	1.52

	EBT
	4.59
	4.54
	4.48

	Tax (40%)
	1.84
	1.82
	1.79

	Net Income
	2.75
	2.72
	2.69

	(1) Return on Equity (Net Income/Equity financing)
	6.89%
	6.81%
	6.73%

	(2) Net Working Capital
	6
	12
	18

	(3) Current ratio
	1.25
	             1.67 
	2.5

	
	
	
	

	Profitability
	High
	 Medium 
	Low

	Risk
	High
	 Medium 
	Low

	
	
	
	


Working Capital = Current Assets – Current Liabilities (Short term debt)

Total current assets are $30. 
Short term debt is 24,18 and 12.

The working capital is 30-24=$6, 30-18=$12 and 30-12 = $18

Current Ratio = Current Assets/Current Liabilities




= 30/24 = 1.25, 30/18 = 1.67 and 30/12 = 2.5

b. The profitability vs risk trade off refers to interest paid which impacts profitability and the risk of refinance and changes in interest rate. When we look at the aggressive  policy, the interest cost is lowest and so this is high in respect to profitability. It is also high in respect of risk since it needs to refinance short term debt quickly and so has the risk that it may not get refinance and each refinance would be at the then prevailing rate which may be higher than the current short term rate.
If we look at the conservative policy, it has the highest interest cost and so is low in terms of profitability. It is also low in terms of risk since it has already tied up more financing from long term sources and so has lower risk in terms of changes in interest rate or refinance.

The moderate policy is in between and so is moderate in terms of risk and profitability,

